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1. (a) E F

D

2. (a) 13 people 

16 people

14  from the front
th

17  from the back th

x

y

After exchanging

13 people 

16 people

34  from the front
th

17  from the back th

y

x

Hence, the position of x = 47
– 16 = 31

3. (c) V  O  L  U  M  E

A  U  Q  A  R   I

+5 +6 +5 +6 +5 +4

Similarly,

D  E  S  I  G   N

I   I   X  O  L  S

+5 +4 +5 +6 +5 +5

4. (d)18 × 7 ÷ 36 + 78 – 14 = 86
Interchanged equation

 18 × 7 – 46 + 78 ÷ 13 = 86
 18 × 7 – 46 + 6 = 86
 126 + 6 – 46 = 86
 132 – 46 = 86
 86 = 86 (L.H.S = R.H.S)

5. (b)Left side % 6 ! H 8 * 6 k 9 F
! A # 5 @ 6 C 7 M # 5 H % 6
G B # 9 Right side
If all the letters are removed
the series is as follows:
% 6 ! 8 * 6 9 ! # 5 @ 6 7 # 5 %
6 # 9
Counting from the right side,
9th element from @.

6. (b)Five boxes A B C D and E
B is thrice as heavy as A.

 B = 3A .....(i)
C is 40 kg heavier than E.

 C = 40 + E ......(ii)
D is three and a half times
as heavy as E.

 D = 3.5E .....(iii)
C is five times as heavy as
A.

 C = 5A .....(iv)

The weight of E is 40 kg.

 E = 40kg eq .....(v)

Putting the value if E in eq.

(ii) and (iii)

 C = 40 + E = 40 + 40 = 80kg

 D = 3.5E = 3.5 × 40 = 140kg

 C = 5A

Putting the value of C in eq.

(iv)

A = 80/5

 80 = 5A

 A = 16 .....(viii)

Putting the value of A is eq.

(i)

B = 3A = 3 × 16 = 48 ... (ix)

From eq. (vi), (vii), (viii) and

(ix)

 16< 40 < 48 < 80 < 140

So, A < E <B<C<D

7. (a) R

E

T

K

+3

+3

+3

+3

+3

+3

+3

+3

+3

+3

+3

+3

+3

+3

+3

+3

U

H

W

N

X

K

Z

Q

A

N

C

T

C

Q

F

W

(odd)

8. (b)14 : 77

 77 – 14 = 63

25 : 86 (odd)

 86 – 25 = 61

31 : 94

 94 – 31 = 63

22 : 85

 85 – 22 = 63

9. (d) 24, 35, 51, 73, 102,  139

+11 +16 +22 +29 +37

+5 +6 +7 +8

10. (d)6932 – 50

 (6 + 9) × (3 + 2) × 2 = 150

7851 – 180

 (7 + 8) × (5 + 1) × 2 = 180

3712 – 60

 (3 + 7) × (1 + 2) × 2 = 60

2134 – 40 (odd)

 (2 + 1) × (3 + 4) × 2 = 42  40

11. (b)

P
R

S

B
C

Q

A

12. (c) Both the arguments are

strong as encouragment to

the young entrepreneurs will

open up the fields for setting

up of new industries.

Hence, it will help in

industrial development.

Consequently, more job

opportunities will be created.

13. (b)81 × 9 +21 – 7 ÷ 147

 81 ÷ 9 – 21 × 7 + 147

  9 – 21 × 7 + 147

 9 – 147 + 147

 9

14. (b)The meaningful order is

according to the position of

these cities on the map from

East to West.

(1) Tokyo, (5) Kathmandu, (2)

Islamabad, (4) Dubai, (3)

London, (6) Mexico

15. (b)

16. (b)

17. (a) I. All irregular students pass

in exams.  The conclusion

does not follows. (As Some

irregular students pass in

the examinations)

II. Some irregular students fail

in the exam.  The

conclusion does follows. (As

Some irregular students

pass in the examinations 

Some irregular students fail

in the exam)

18. (c) ‘–’

‘+’

Female

Male

Diff. of generation 

Married couple

Siblings

Mahi Suraj

Tanja

Charu

Naman

Charu’s brother

–

–

–

+

+

+
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19. (b)
F  A  L  L  E  N

I  J  P  O  C  G

+1 +2 +3 +4 +5 +6 

D  A  N  G  E  R

X   J  K  Q  C  E

+1 +2 +3 +4 +5 +6 

Similarly,

C  A  B  L  E  S

Y   J  P  E  C  D

+1 +2 +3 +4 +5 +6 

20. (a) GHNRY/GHNRY/GHNRY/
GHNRY

21. (d) V C J

R

N

J

F

Y

U

Q

M

F

B

X

T

– 4

– 4

– 4

– 4

– 4

– 4

– 4

– 4

– 4

– 4

– 4

– 4

22. (a) S      '–'
Q      '×'
R      '÷'
P      '+'
= 1 P 45 R 2 Q 2 S 4
= 1 + 45 ÷ 2 × 2 – 4
= 1 + 45 – 4
= 42

23. (d) Cars
Buses

Truck

Ships

24. (d) F C A

G

H

I

J

D

E

F

G

B

C

D

E

+1

+1

+1

+1

+1

+1

+1

+1

+1

+1

+1

+1

25. (b) G   I   V   E

V   O   L   T

4  6  2  8

3  5  6  7

The code 'V' is "6".

B-GENERAL AWARENESS
26. (b)Emperor Ashoka ascended

the throne around 268 BCE
and conquered Kalinga in
261 BCE, approximately 8
years after his coronation./

lezkV v'kksd us yxHkx 268 bZlk iwoZ
esa flagklu xzg.k fd;k vkSj 261 bZlk
iwoZ esa dfyax ij fot; çkIr dh] tks
muds jkT;kfHk"ksd ds yxHkx 8 o"kZ
ckn FkkA

27. (d)The Tripartite struggle was
a conflict for control over the
strategic city of Kannauj
among the Gurjara
Pratiharas in North India,
the Palas in Eastern India,
and the Rashtrakutas from
South India during the 8th
to 10th centuries.
Cheras – Ancient dynasty
ruling parts of Kerala and
Tamil Nadu, significant in
early South Indian history
but not involved in the
Tripartite struggle.
Cholas – Powerful medieval
South Indian dynasty known
for maritime dominance and
cultural achievements, but
not part of the Tripartite
struggle.
Marathas – A major political
and military power in
western India during the
17th and 18th centuries,
long after the Tripartite
struggle.

f=ki{kh; la?k"kZ 8oha ls 10oha 'krkCnh ds
nkSjku mÙkj Hkkjr esa xqtZj çfrgkj] iwohZ
Hkkjr esa iky vkSj nf{k.k Hkkjr esa jk"VªdwVksa
ds chp dUukSt 'kgj ij fu;a=k.k ds
fy, la?k"kZ FkkA
psj – dsjy vkSj rfeyukMq ds dqN
fgLlksa ij 'kklu djus okyk çkphu
jktoa'k] nf{k.k Hkkjrh; bfrgkl esa egRoiw.kZ]
ysfdu f=ki{kh; la?k"kZ esa 'kkfey ughaA
pksy & eè;dkyhu nf{k.k Hkkjrh; jktoa'k]
leqæh çHkqRo vkSj lkaLÑfrd miyfC/;ksa
ds fy, çfl¼] ysfdu f=ki{kh; la?k"kZ dk
fgLlk ughaA
ejkBk & 17oha vkSj 18oha 'krkCnh esa
if'peh Hkkjr esa çeq• jktuhfrd vkSj
lSU; 'kfDr] f=ki{kh; la?k"kZ ds cgqr
cknA

28. (b)The Third Battle of Panipat
was fought in 1761 between
the Marathas and Ahmad
Shah Abdali. During this
time, Shah Alam II was the
nominal Mughal emperor.
Though he had little real
power due to the decline of
the Mughal Empire, he held
the imperial title when the
battle occurred.
Akbar II – Reigned much
later, from 1806 to 1837; not
contemporary with the
battle.
Bahadur Shah I – Reigned
from 1707 to 1712, nearly 50
years before the battle.
Bahadur Shah Zafar – The
last Mughal emperor, who
ruled during the 1857 revolt,
almost a century after the
battle.

ikuhir dh rhljh yM+kbZ 1761 esa ejkBksa
vkSj vgen 'kkg vCnkyh ds chp yM+h
xbZ FkhA bl le; 'kkg vkye f}rh;
ukeek=k ds eqxy lezkV FksA eqxy lkezkT;
ds iru ds dkj.k mudh okLrfod
'kfDr de Fkh] ysfdu os bl yM+kbZ ds
le; 'kkgh f•rkc j•rs FksA
vdcj f}rh; & cgqr ckn esa] 1806
ls 1837 rd 'kklu fd;k_ bl yM+kbZ
ds ledkyhu ughaA
cgknqj 'kkg çFke & 1707 ls 1712
rd 'kklu fd;k] yM+kbZ ls yxHkx 50
o"kZ igysA
cgknqj 'kkg tiQj & vafre eqxy
lezkV] 1857 ds foæksg ds nkSjku 'kklu
fd;k] tks bl yM+kbZ ds yxHkx ,d
lnh ckn FkkA

29. (a) The 1915 session of the
Indian National Congress
was held in Bombay, and it
was presided over by
Satyendra Prasanna Sinha
- the first Indian to be
elevated to the British House
of Lords. He was a
distinguished lawyer and
statesman, and his
presidency marked a
significant step in moderate
constitutional politics in
India.
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Ambica Charan Mazumdar
– President of the 1916
Lucknow session, where the
Congress and the Muslim
League came together.
Bhupendra Nath Bose –
Presided over the 1914
session of the INC.
Madan Mohan Malaviya –
Presided over earlier
sessions (1909 and 1918),
but not the 1915 session.

Hkkjrh; jk"Vªh; dkaxzsl dk 1915 dk
l=k ckWEcs esa gqvk] ftldh vè;{krk
lR;saæ çlUu flUgk us dh & tks fczfV'k
gkml vkWiQ ykWM~lZ esa 'kkfey gksus okys
igys Hkkjrh; FksA os ,d çfrf"Br odhy
vkSj jktusrk Fks] vkSj mudh vè;{krk
us Hkkjr esa mnkjoknh laoS/kfud jktuhfr
esa egRoiw.kZ dne fpfÉr fd;kA
vafcdk pj.k etwenkj & 1916 ds
y•uÅ l=k ds vè;{k] tgka dkaxzsl
vkSj eqfLye yhx ,d lkFk vk,A
Hkwisaæ ukFk cksl & 1914 ds l=k dh
vè;{krk dhA
enu eksgu ekyoh; & igys ds l=kksa
(1909 vkSj 1918) dh vè;{krk dh]
ysfdu 1915 ds l=k dh ughaA

30. (d)The Kuiper Belt is a region
of icy bodies located just
beyond the orbit of Neptune
(i.e., beyond 30 AU from the
Sun). It contains dwarf
planets like Pluto, Haumea,
and Makemake, and is
similar in structure to the
asteroid belt but much larger
and more icy.
Saturn – Located much
closer to the Sun (6th
planet), well inside the
Kuiper Belt region.
Venus – 2nd planet from the
Sun, has no relation to the
outer icy regions.
Jupiter – 5th planet, also
inside the Kuiper Belt

region./dkbij csYV ciQhZys fiaMksa
dk ,d {ks=k gS tks o#.k dh d{kk ls
ijs (;kuh lw;Z ls 30 AU ls vf/d)
fLFkr gSA blesa IywVks] gkSfe;k vkSj
ekdsekds tSls ckSus xzg 'kkfey gSa] vkSj
;g {kqæxzg csYV ds leku gS] ysfdu
cgqr cM+k vkSj vf/d ciQhZyk gSA

'kfu & lw;Z ds cgqr djhc (6oka xzg)]
dkbij csYV {ks=k ds vanjA
'kqØ & lw;Z ls nwljk xzg] ckgjh ciQhZys
{ks=kksa ls dksbZ laca/ ughaA
c`gLifr & 5oka xzg] dkbij csYV {ks=k
ds vanjA

31. (c) The Indian Desert, also
known as the Thar Desert,
lies to the northwest of the
Aravali Hills, primarily in
Rajasthan. The Aravali range
acts as a natural barrier that
separates the desert from the
more fertile regions to the
east.

Hkkjrh; e#LFky] ftls Fkkj e#LFky
Hkh dgk tkrk gS] vjkoyh igkfM+;ksa ds
mÙkj&if'pe esa] eq[; :i ls jktLFkku
esa fLFkr gSA vjkoyh J`a•yk ,d
çkÑfrd vojks/ ds :i esa dk;Z djrh
gS tks e#LFky dks iwoZ ds vf/d
mitkÅ {ks=kksa ls vyx djrh gSA

32. (c) The Chhota Nagpur Plateau,
spread across Jharkhand,
Odisha, Chhattisgarh, and
West Bengal, is rich in iron
ore, coal, and limestone,
which are essential raw
materials for the iron and
steel industry. Major steel
plants like Bokaro,
Jamshedpur, Rourkela, and
Durgapur are located in this
region.
Western Ghats – Rich in
biodiversity but not
industrially dense for steel.
Deccan Plateau – Has some
mineral resources but not
the highest concentration of
steel industries.
Indo-Gangetic Plains –
Fertile agricultural area with
minimal heavy industry
presence.

NksVk ukxiqj iBkj] tks >kj•aM] vksfM'kk]
NÙkhlx<+ vkSj if'pe caxky esa iQSyk
gS] ykSg v;Ld] dks;yk vkSj pwuk iRFkj
tSls yksgk vkSj bLikr m|ksx ds fy,
vko';d dPps eky ls lè¼ gSA bl
{ks=k esa cksdkjks] te'ksniqj] jkmjdsyk
vkSj nqxkZiqj tSls çeq• bLikr la;a=k
fLFkr gSaA

if'peh ?kkV & tSo fofo/rk esa lè¼]
ysfdu bLikr m|ksx ds fy, vkS|ksfxd
:i ls ?kuk ughaA
nDdu iBkj & dqN •fut lalk/u
gSa] ysfdu bLikr m|ksxksa dh mPpre
l?kurk ughaA
baMks&xaxk eSnku & mitkÅ Ñf"k {ks=k]
Hkkjh m|ksx dh U;wure mifLFkfrA

33. (c) The Government of India Act,
1935 served as the main
structural blueprint for the
Indian Constitution. It
contributed significantly to
features like federal
structure, provincial
autonomy, bicameralism,
and emergency provisions.
Around two-thirds of the
Indian Constitution is said to
be influenced by this Act.
Act of 1919 (Montagu-
Chelmsford Reforms) –
Introduced diarchy at the
provincial level but was
limited in scope.
Act of 1947 (Indian
Independence Act) – Gave
India independence but not
a constitutional framework.
Act of 1909 (Morley-Minto
Reforms) – Introduced
separate electorates, but had
minimal structural influence
on the Constitution.

Hkkjr ljdkj vf/fu;e] 1935 Hkkjrh;
lafo/ku ds fy, eq[; lajpukRed •kdk
FkkA blus la?kh; <kapk] çkarh; Lok;Ùkrk]
f}lnuh;rk vkSj vkikrdkyhu çko/kuksa
tSlh fo'ks"krkvksa esa egRoiw.kZ ;ksxnku
fn;kA dgk tkrk gS fd Hkkjrh; lafoèkku
dk yxHkx nks&frgkbZ fgLlk bl vf/
fu;e ls çHkkfor gSA
1919 dk vf/fu;e (ekWUVsX;w & psEliQksMZ
lq/kj) & çkarh; Lrj ij }S/ 'kklu 'kq:
fd;k] ysfdu nk;jk lhfer FkkA
1947 dk vf/fu;e (Hkkjrh; Lora=krk
vf/fu;e) & Hkkjr dks Lora=krk nh]
ysfdu laoS/kfud <kapk ughaA
1909 dk vf/fu;e (ekWyZs&feaVks
lqèkkj) & vyx fuokZpu {ks=k 'kq: fd,]
ysfdu lafo/ku ij U;wure lajpukRed
çHkkoA
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34. (c) Article 48A, added by the
42nd Constitutional
Amendment Act (1976),
directs the State to protect
and improve the
environment and to
safeguard forests and
wildlife. It is included in the
Directive Principles of State
Policy (Part IV).
Article 47 – Deals with
raising the level of nutrition
and public health.
Article 48 – Relates to
organisation of agriculture
and animal husbandry.
Article 49 – Pertains to the
protection of monuments
and places of national
importance.

vuqPNsn 48A] 42osa laoS/kfud la'kks/
u vf/fu;e (1976) }kjk tksM+k x;k]
jkT; dks i;kZoj.k dh j{kk vkSj lq/kj
djus vkSj taxyksa vkSj oU;thoksa dh
lqj{kk djus dk funZs'k nsrk gSA ;g jkT;
uhfr ds funs'kd fl¼karksa (Hkkx IV)
esa 'kkfey gSA
vuqPNsn 47 & iks"k.k vkSj lkoZtfud
LokLF; ds Lrj dks c<+kus ls lacaf/rA
vuqPNsn 48 & Ñf"k vkSj i'kqikyu ds
laxBu ls lacaf/rA
vuqPNsn 49 & jk"Vªh; egRo ds Lekjdksa
vkSj LFkkuksa dh j{kk ls lacaf/rA

35. (d)Mikhail Gorbachev was the
last President of the USSR,
serving from 1990 to 1991.
He resigned on 25 December
1991, just before the formal
dissolution of the Soviet
Union, making him the
leader during its final phase.
His reformist policies,
Perestroika and Glasnost,
played a significant role in
the collapse.
Boris Yeltsin – First
President of the Russian
Federation, not of the USSR.
Leonid Brezhnev – General
Secretary of the Communist
Party before Gorbachev, died
in 1982.
Nikita Khrushchev – Soviet
leader during the Cold War
(1953–1964), decades before

the disintegration.

fe•kby xksckZpso 1990 ls 1991 rd
lksfo;r la?k ds vk[kjh jk"Vªifr FksA
mUgksaus 25 fnlacj 1991 dks bLrhiQk
fn;k] tks lksfo;r la?k ds vkSipkfjd
fo?kVu ls Bhd igys Fkk] ftlls os
blds vafre pj.k esa usrk cusA mudh
lq/kjoknh uhfr;ka] isjsL=kksbdk vkSj
XykLuksLr] fo?kVu esa egRoiw.kZ Hkwfedk
fuHkkbZaA
cksfjl ;sfYRlu & :lh la?k ds igys
jk"Vªifr] lksfo;r la?k ds ughaA
fy;ksfun czstuso & xksckZpso ls igys
dE;qfuLV ikVhZ ds egklfpo] 1982 esa
e`R;qA
fufdrk #'pso & 'khr ;q¼ ds nkSjku
lksfo;r usrk (1953&1964)] fo?kVu
ls n'kdksa igysA

36. (c) The Fifth Five-Year Plan
(1974–1979), launched
under the leadership of
Indira Gandhi, focused on
"Garibi Hatao" (Removal of
Poverty) and self-reliance as
key objectives. This plan
aimed to reduce poverty and
achieve economic
independence through
growth, employment, and
justice.
Eighth Plan (1992–1997) –
Focused on liberalisation
and economic reforms post-
1991 crisis.
Seventh Plan (1985–1990)
– Emphasised productivity,
food security, and
employment generation.
Sixth Plan (1980–1985) –
Aimed at economic growth
and poverty alleviation, but
"Garibi Hatao" was not its
primary slogan.

ikapoha iapo"khZ; ;kstuk (1974 &1979)]
bafnjk xka/h ds usr̀Ro esa 'kq: dh xbZ] us
"xjhch gVkvks" vkSj vkRefuHkZjrk dks
çeq• mís';ksa ds :i esa j•kA bl ;kstuk
dk y{; xjhch de djuk vkSj fodkl]
jkstxkj vkSj U;k; ds ekè;e ls vkfFkZd
Lora=krk gkfly djuk FkkA
vkBoha ;kstuk (1992 & 1997) &
1991 ds ladV ds ckn mnkjhdj.k
vkSj vkfFkZd lq/kjksa ij dsafærA
lkroha ;kstuk (1985 & 1990) &

mRikndrk] •k| lqj{kk vkSj jkstxkj
l`tu ij tksjA
NBh ;kstuk (1980 & 1985) &
vkfFkZd fodkl vkSj xjhch mUewyu ij
yf{kr] ysfdu "xjhch gVkvks" bldk
çkFkfed ukjk ugha FkkA

37. (a) The Reserve Bank of India
(RBI) identifies Domestic
Systemically Important
Banks (D-SIBs) as banks
that are “too big to fail.” As
of now, the three D-SIBs in
India are: State Bank of India
(SBI), ICICI Bank & HDFC
Bank.
Federal Bank – A private
sector bank, not designated
as a D-SIB.
RBL Bank – Smaller in size,
not systemically important.
Axis Bank – A major private
bank but not among the
designated D-SIBs as per
RBI's current list.

Hkkjrh; fjtoZ cSad (RBI) ?kjsyw
ç.kkyhxr :i ls egRoiw.kZ cSadksa (D-

SIBs) dks "foiQy gksus ds fy, cgqr
cM+s" ds :i esa igpkurk gSA orZeku esa
Hkkjr ds rhu D-SIBs gSa% Hkkjrh;
LVsV cSad (SBI)] ICICI cSad vkSj
HDFC cSadA
iQsMjy cSad & futh {ks=k dk cSad]
D-SIB ds :i esa ukfer ughaA
RBL cSad & vkdkj esa NksVk] ç.kkyhxr
:i ls egRoiw.kZ ughaA
,fDll cSad & çeq• futh cSad] ysfdu
RBI dh orZeku lwph ds vuqlkj D-

SIB esa 'kkfey ughaA
38. (d)Volume is measured in cubic

metres (m³), not in just
metres (m). Metre is a unit
of length, not volume. The
rest are correctly matched:
Force  Newton (N),
Pressure  Pascal (Pa) &
Work done  Joule (J)./

vk;ru dks ?ku ehVj (m³) esa ekik
tkrk gS] u fd dsoy ehVj esaA ehVj
yackbZ dh bdkbZ gS] vk;ru dh ughaA
ckdh lgh <ax ls esy •krs gSa% cy 
U;wVu (N)] ncko  ikLdy (Pa)]
dk;Z  twy (J)A
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39. (c) The ringing of an alarm clock
involves quartz crystal
oscillators, which function
based on principles of
quantum mechanics. Quartz
watches and clocks use the
piezoelectric effect a
quantum mechanical
property where quartz
crystals vibrate at a precise
frequency when voltage is
applied, helping keep
accurate time.
Brushing teeth – Involves no
direct quantum mechanical
process.
Making tea – Based on heat
and diffusion, not quantum
principles.
Reading newspaper Involves
visual perception, not
quantum mechanics.

vykeZ ?kM+h dh ?kaVh esa DokV~tZ fØLVy
nksyd 'kkfey gksrs gSa] tks DokaVe ;kaf=kdh
ds fl¼karksa ij dke djrs gSaA DokV~tZ
?kfM+;ka vkSj ?kfM+;ka ikbtksbysfDVªd çHkko
dk mi;ksx djrh gSa & ,d DokaVe
;kaf=kd xq.k & tgka DokV~tZ fØLVy
oksYVst ykxw gksus ij ,d fuf'pr vkòfÙk
ij daiu djrs gSa] tks lVhd le;
j•us esa enn djrk gSA
nkar cz'k djuk & blesa dksbZ çR;{k
DokaVe ;kaf=kd çfØ;k 'kkfey ughaA
pk; cukuk & xehZ vkSj çlkj ij
vkèkkfjr] DokaVe fl¼karksa ij ughaA
v•ckj i<+uk & ǹ'; /kj.kk ls lacafèkr]
DokaVe ;kaf=kdh ughaA

40. (c) Helium (He) is a noble gas
and exists in nature as a
monoatomic molecule,
meaning it consists of single
atoms not bonded to others.
Carbon monoxide (CO) – A
diatomic molecule made of
carbon and oxygen.
Oxygen (O

2
) – Exists as O

2
, a

diatomic molecule.
Chlorine (Cl

2
) – Also exists as

Cl
2
, a diatomic molecule.

ghfy;e (He) ,d ukscy xSl gS vkSj
çÑfr esa ,dy ijek.kq v.kq ds :i esa
ekStwn gS] ;kuh ;g ,dy ijek.kqvksa ls
cuk gksrk gS tks ,d&nwljs ls ca/s ugha
gksrsA

dkcZu eksuksvkWDlkbM (CO) & dkcZu
vkSj vkWDlhtu ls cuk f}ijek.kqd v.kqA
vkWDlhtu (O

2
) & O

2
 ds :i esa

ekStwn] ,d f}ijek.kqd v.kqA
Dyksjhu (Cl

2
) & Cl

2
 ds :i esa ekStwn]

,d f}ijek.kqd v.kqA
41. (a) Vertebrata is a subphylum of

Chordata and includes
animals with a vertebral
column (backbone). In some
primitive forms like lampreys
and hagfish, the notochord
(a flexible rod-like structure)
persists instead of a fully
developed backbone.
Vertebrates include fishes,
amphibians, reptiles, birds,
and mammals.
Echinodermata – Marine
animals like starfish; no
notochord or vertebral
column.
Mollusca – Includes snails,
octopuses; soft-bodied, no
notochord or backbone.
Arthropoda – Includes
insects, spiders, crusta-
ceans; have an exoskeleton,
not a notochord or
backbone.

ofVZczsVk dkWMZsVk dk ,d mila?k gS vkSj
blesa jh<+ dh gîóh okys tho 'kkfey
gSaA dqN vkfne :iksa tSls ySEçs vkSj
gSxfiQ'k esa jh<+ dh gîóh ds ctk;
uksVksdkWMZ (,d yphyh jkWM tSlh
lajpuk) cuh jgrh gSA d'ks#dh thoksa
esa eNfy;ka] mHk;pj] ljhl`i] i{kh
vkSj Lru/kjh 'kkfey gSaA
,fduksMekZVk & LVkjfiQ'k tSls leqæh
tho_ dksbZ uksVksdkWMZ ;k jh<+ dh gîóh
ughaA
eksyLdk & ?kksa?ks] vkWDVksil 'kkfey_
uje 'kjhj] dksbZ uksVksdkWMZ ;k jh<+ dh
gîóh ughaA
vkFkzkZsiksMk & dhM+s] edfM+;ka] ØLVsf'k;u
'kkfey_ ckádadky] uksVksdkWMZ ;k jh<+
dh gîóh ughaA

42. (d)The eardrum (also called the
tympanic membrane)
functions much like a
stretched rubber sheet. It is
a thin, tightly stretched
membrane that vibrates

when sound waves hit it,
converting sound energy into
mechanical vibrations.
These vibrations are then
transmitted to the middle
and inner ear, enabling
hearing.

dku dk inkZ (ftls fVEiSfud esEczsu
Hkh dgk tkrk gS) ,d ruh gqbZ jcj
'khV dh rjg dk;Z djrk gSA ;g ,d
iryh] ruh gqbZ f>Yyh gS tks èofu
rjaxksa ds Vdjkus ij daiu djrh gS]
èofu ÅtkZ dks ;kaf=kd daiu esa ifjofrZr
djrh gSA ;s daiu fiQj eè; vkSj
vkarfjd dku esa çsf"kr gksrs gSa] ftlls
lquus dh çfØ;k laHko gksrh gSA

43. (c) We are currently in the Fifth
Generation of computers,
which focuses on Artificial
Intelligence (AI), Machine
Learning, Quantum
Computing, and Natural
Language Processing. These
computers aim to simulate
human intelligence and can
learn, reason, and adapt.
Third Generation – Used
integrated circuits (ICs),
active in the 1960s–70s.
Fourth Generation – Based
on microprocessors,
common from the late 1970s
to early 2000s.
Sixth Generation – Not
officially defined or
recognised yet.

ge orZeku esa daI;wVj dh ikapoha ih<+h
esa gSa] tks Ñf=ke cqf¼eÙkk (AI)] e'khu
yfuZax] DokaVe daI;wfVax vkSj çkÑfrd
Hkk"kk çlaLdj.k ij dsafær gSA ;s daI;wVj
ekuo cqf¼ dk vuqdj.k djus dk y{;
j•rs gSa vkSj lh• ldrs gSa] rdZ dj
ldrs gSa vkSj vuqdwyu dj ldrs gSaA
rhljh ih<+h & ,dhÑr lfdZV (ICs)

dk mi;ksx] 1960&70 ds n'kd esa
lfØ;A
pkSFkh ih<+h µ ekbØksçkslslj ij
vkèkkfjr] 1970 ds n'kd ds var ls
2000 ds n'kd dh 'kq#vkr rd lkekU;A
NBh ih<+h & vHkh rd vkf/dkfjd
:i ls ifjHkkf"kr ;k ekU;rk çkIr ughaA
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44. (c) The Operating System (OS)
acts as an interface between
the user and the computer
hardware. Its primary
function is to manage system
resources such as the CPU,
memory, input/output
devices, and software
applications. It also handles
file management,
multitasking, and system
security.
Word processing – Done
using applications like MS
Word, not by the OS itself.
Web browsing – Performed
using browsers like Chrome
or Firefox.
Compiling code – Task of
compilers or IDEs, not the
OS.

vkWijsfVax flLVe (OS) mi;ksxdrkZ vkSj
daI;wVj gkMZos;j ds chp ,d baVjiQsl
ds :i esa dk;Z djrk gSA bldk çkFkfed
dk;Z flLVe lalk/uksa tSls CPU, eseksjh]
buiqV@vkmViqV fMokbl vkSj lkWÝVos;j
,fIyds'ku dk çca/u djuk gSA ;g
iQkby çca/u] eYVhVkfLdax vkSj flLVe
lqj{kk dks Hkh laHkkyrk gSA
oMZ çkslsflax & MS Word tSls
,fIyds'ku }kjk fd;k tkrk gS] OS

}kjk ughaA
osc czkmftax & Økse ;k iQk;jiQkWDl
tSls czkmtj }kjk fd;k tkrk gSA
dksM ladyu & daikbyj ;k IDEs

dk dk;Z] OS dk ughaA
45. (b)Walter Hunt, an American

inventor, invented the safety
pin in 1849. He designed it
as a practical solution using
a simple spring mechanism
and sold the patent for just
$ 400.
Ship – Not attributed to any
single modern inventor;
ships date back to ancient
times.
Scooter – Developed much
later; various inventors
contributed to its evolution.
Safety lamp – Invented by
Sir Humphry Davy for use in
coal mines.

okYVj gaV] ,d vesfjdh vkfo"dkjd]
us 1849 esa lsÝVh fiu dk vkfo"dkj
fd;kA mUgksaus bls ,d lk/kj.k fLçax
eSdsfuTe ds lkFk fMtkbu fd;k vkSj
bldk isVsaV dsoy $ 400 esa csp
fn;kA
tgkt & fdlh ,d vk/ qfud
vkfo"dkjd dks Js; ugha_ tgkt çkphu
dky ls gSaA
LdwVj & cgqr ckn esa fodflr_ fofHkUu
vkfo"dkjdksa us blds fodkl esa ;ksxnku
fn;kA
lsÝVh ySai & lj gEÚh Msoh }kjk
dks;yk •nkuksa ds fy, vkfo"ÑrA

46. (c) Established in May 2013,
NIMAS operates under the
Ministry of Defence and is
situated in Dirang, West
Kameng district, Arunachal
Pradesh. It is India’s first
national institute offering
land, air, and water
adventure training,
providing certified courses in
m o u n t a i n e e r i n g ,
paragliding, scuba diving,
white water rafting, and
mountain terrain biking.

ebZ 2013 esa LFkkfir] NIMAS j{kk
ea=kky; ds rgr lapkfyr gksrk gS vkSj
v#.kkpy çns'k ds if'pe dkesax ftys
ds fnjkax esa fLFkr gSA ;g Hkkjr dk
igyk jk"Vªh; laLFkku gS tks Hkwfe] ok;q
vkSj ty lkgfld çf'k{k.k çnku djrk
gS] ftlesa ioZrkjksg.k] iSjkXykbfMax] Ldwck
Mkbfoax] OgkbV okWVj jkfÝVax vkSj ekmaVsu
Vsjsu ckbfdax esa çekf.kr ikBÔØe
'kkfey gSaA

47. (d)Divya Deshmukh made
history in July 2025 by
becoming the first Indian
woman ever to win the FIDE
Women’s World Cup, held in
Batumi, Georgia.
Koneru Humpy – A
legendary player and former
rapid world champion, but
she has not won the FIDE
Women’s World Cup finals.
Harika Dronavalli &
Dronavalli V – Consistent
top performer for India, but
has not claimed this title.

fnO;k ns'keq• us tqykbZ 2025 esa tkWftZ;k
ds cVweh esa vk;ksftr FIDE efgyk
fo'o di thrdj bfrgkl jpk] vkSj
og ;g f•rkc thrus okyh igyh
Hkkjrh; efgyk cuhaA
dksus: gEih & ,d çfl¼ f•ykM+h
vkSj iwoZ jSfiM fo'o pSafi;u] ysfdu
mUgks aus FIDE efgyk fo'o di
iQkbuy ugha thrkA
gfjdk æks.koYyh vkSj æks.koYyh
oh & Hkkjr ds fy, yxkrkj 'kh"kZ
çn'kZu djus okyh] ysfdu bl f•rkc
dks gkfly ugha fd;kA

48. (c) NISAR is a collaborative
Earth-observing satellite
mission between NASA and
ISRO. Its primary goal is to
use advanced radar imaging
technology to monitor
dynamic changes on Earth’s
surface. These include
events like earthquakes,
glacier movements,
landslides, and changes in
forest cover. The data
collected will improve
natural disaster
preparedness, agricultural
planning, and climate
resilience through high-
resolution and all-weather

Earth observation./NISAR

uklk vkSj ISRO ds chp ,d lg;ksxh
i`Foh&fujh{k.k mixzg fe'ku gSA bldk
çkFkfed y{; mUur jMkj besftax
rduhd dk mi;ksx djds i`Foh dh
lrg ij xfr'khy ifjorZuksa dh fuxjkuh
djuk gSA blesa Hkwdai] fgeun xfr]
HkwL•yu vkSj ou doj esa ifjorZu
'kkfey gSaA ,df=kr MsVk çkÑfrd vkink
dh rS;kjh] Ñf"k fu;kstu vkSj tyok;q
yphykiu esa lq/kj djsxkA

49.(d) The U.S., under President
Donald Trump,
implemented a 50% tariff on
a wide range of Indian goods
citing concerns over trade
imbalance and India’s
energy ties with Russia.
This move is expected to
significantly affect exports
in sectors such as textiles,
electronics, jewellery, and
auto components.
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vesfjdk us jk"Vªifr MksukYM VªEi ds
rgr] O;kikj vlarqyu vkSj Hkkjr ds
:l ds lkFk ÅtkZ lacaèkksa dk gokyk
nsrs gq, Hkkjrh; lkekuksa ij 50» VSfjiQ
ykxw fd;kA bl dne ls diM+k]
bysDVªkWfuDl] vkHkw"k.k vkSj vkWVks ?kVdksa
tSls {ks=kksa esa fu;kZr ij egRoiw.kZ çHkko
iM+us dh mEehn gSA

50. (d)The first franchise-based
rugby league in India,
launched in June 2025, is
organized by Rugby India in
partnership with GMR
Sports. It features six city-
based franchise teams and
focuses on rugby sevens. The
league is officially named the
Rugby Premier League

(RPL)./twu 2025 esa 'kq: dh xbZ
Hkkjr dh igyh ÚSapkbth&vk/kfjr jXch
yhx] jXch bafM;k vkSj GMR LiksV~lZ
ds lg;ksx ls vk;ksftr dh tkrh gSA
blesa Ng 'kgj&vk/kfjr ÚSapkbth Vhesa
'kkfey gSa vkSj ;g jXch lsoUl ij
dsafær gSA yhx dk vkf/dkfjd uke
jXch çhfe;j yhx (RPL) gSA

C - QUANTITATIVE APTITUDE

51. (a) A

B C1C2

60° 45°

In ABC
1

tan45° = 
1

AB

BC
 AB= BC

1

In ABC
2

tan60° = 
2

AB

BC

3 = 
1

2

BC

BC

BC
1
 = 3 BC

2

(BC
2
 + C

2
C

1
)= 3 BC

2

C
2
C

1
 = ( 3 –1)BC

2

2 1

2

C C

BC = 
3 –1

1

If car takes time from C
1
to

C
2
 = 10 min

( 3 –1)  =10

1 = 
10

( 3 –1)
 × 

3 1

3 1





= 
10( 3 1)

2


= 5 3 +5

= Then it will take time from
C

1
 to B

= 5 3 +5+10 = 5 3 +15 min

52. (c)  O1

A

B O2

10 8
6

x
10

O
1
O

2
 = 

1 2O A O A

AB



x = 
10 8

6


= 13.33

53. (b) a4 + b4 + a2b2 = 273
a2 + b2 – ab = 21 .....(i)
We know

a2 + b2 + ab = 
273

21
= 13 ...(ii)

From eq ....(i) and (ii)

 a2 + b2 = 
34

2
= 17, ab = –4

     
1 1

a b

 
   =

a b

ab


= 

2 2(a b 2ab)

ab

 

=
17 – 8

– 4
=

9

– 4
=

–3

4

54. (c) Diff of C.I and S.I =

2
R

P
100

 
  

43.20

100
= x ×

12

100
×

12

100
x = 3000

55. (b) CP  : SP

180×
1000

950
 :      180×

1000

750

 
1

95
      :

1

75
75      ––––– 95
15      ––––– 19

=
4

15
×100 = 

80

3
%

= 26.67% Profit

56. (b) A   :   B

Present 9   :  10

          11  :  12

          +8  :  +8

= (9×12) – (11×10) = (11×8) –

(12×8)

= [108 – 110] = 88 – 96

= 2 = 8

= 1 = 4

It mean Present  age of A and B

= 9×4, 10×4

=  36, 40

After 3 years, sum of their ages

= 36 + 3 + 40 + 3 = 82

57. (b)
b c

a


= x, 

c a

b


= y, 

a b

c


=z

x+1=
b c

a


+1

x+1= 
b c a

a

 

1

x 1
=

a

a b c 
,

1

y 1

=
b

a b c 
, 

1

z 1
=

c

a b c 

=
1

9

1 1 1

x 1 y 1 z 1

 
     

=
1

9
 

a b c

a b c a b c a b c

 
        

=
1

9

a b c

a b c

  
   

= 
1

9

58. (d) We know

AB = c = 12

AC = b = 10

BC = a = ?

Cos A = 

2 2 2b c – a

2bc



1

2
 =  

2100 144 – a

240



=  

2244 – a

240

244–a2 = 120

a2 = 124

a = 124 = 11.13 cm
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59. (d)     Cu   Zn
A - 4  : 3] ×5 = 20 : 15

B - 5  : 2] ×6 = 30 : 12

New Alloy = 50 : 27

Percentage of Zn = 
27

77
×100

= 35.06 (Approx)

= 35

60. (a) First pipe = 12hr.

it will fill 
12

4
= 3 hr

Total Time = 3×
1

4
+ 3×

1

3
+

3×
1

2
+ 

3

1
 = 

3

4
+1+

3

2
+3

= 6hr 
1

4
 = 6

1

4
hr

61. (b) Distance = 800 km

They will cross each other

Rel. Speed = 
dis

time

(60+40) = 
800

T

T = 8 hr

After 8 hr it means train x

will meet the train y at dis-

tance of = 40×8 = 320 km

62. (b) In Ex  Savings

    130 100    30

   130×
9

5
175

=   234         175    59

= Increase in savings

=
29

30
×100 = 96.67%

63. (d) 36.66% = 20% + 16.66%

= 
1

5
+

1

6
= 

11

30

CP SP

41  ––––  30

30 = 7200

1 = 240

41 = 240 × 41= 9840

On 25% Profit = 
125

9840
100



= 12300

64. (c) 8     :  5      :   12
    10%    12%     15%
Then

8x 10 5x 12% 12x 15%

100

    

= 3200
[80 + 60 + 180]x = 3200×100

x = 
3200 100

320


= 1000

Amount invested in scheme
B = 5x = 5 ×1000 = 5000

65. (b) 105 (Students) = Boys Girls
     10  :  11

21R = 105
1R = 5 = Boys Girls

 50  55
Let the average score of the
girls = x
50 ×0.8x + 55×x = 105 × 85
40x + 55x = 8925

x = 
8925

95
= 93.94

The average score of boys =
0.8x
= 0.8 × 93.94 = 75.157

66. (c)

  
1 1 36 24 12 14 24 27

–
8 6 45 25 21 15 45 36

    
             

   = 
1 1 36 24 12 14 24 27

–
8 6 45 25 21 15 45 36

 
      
 

= 
1 5 27

–1
8 36 36

 
   

= 
1 5 – 36 27

8 36 36
 

= 
1 31 27

–
8 36 36

 =
1

–
8

4

36

=
1

–
8

1

9
= 

1

72

67. (b) Principal : Interest
  7    :    3
70    :    30

Principal  Amount
70        +30      100
Int= 30 in 6 years

Int= In 1 year = 
30

6
= 5

rate% = 
5

100
70

  = 
50

7
Ratio between Principal and Rate

= 7 : 
50

7
= 49 : 50

68. (b) When the sheet folded along

with length

Let length = a

Breadth = b

then

Perimeter = 36 cm

a
b

2

 
  

= 36

a + 2b = 18×2 = 36

Again when sheet is folded along

with its breadth

b
2 a

2

 
  

= 45

2a + b = 45

On solving a = 18, b = 9

Area of sheet = a × b = 18 × 9

= 162cm2

69. (a) 0.4 0.4

1.2

d = 0.8 cm

r = 0.4 cm

height of capsule

= 2 – 0.8 = 1.2 cm

Capacity of the capsule

=
4

3
(0.4)3 + (0.4)2×1.2

=
4

3
×

22

7
×0.064+

22

7
×0.16×1.2

=
5.632 4.224

21 7


= 0.268 + 0.603 = 0.871cm3

70. (c) Put x = 45°

7sin2x + cos2 x = 7sin2 45 +

cos245

= 7× 

2
1

2

 
  

+

2
1

2

 
  

=
7

2
+

1

2
=4

= R.H.S

So, x = 45°

tan2x + cosec2x = tan245 +

cosec245

= 1 + 
 

2

2

1
= 1+2 = 3
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71. (c) LCM of (18, 54, 36) = 108 =

Total work

Perday work of A = 6

 B = 2

 C = 3

Let the work will complete

in x days

Then

6 × 8 + 2 × (x–5)+3x =108

48 + 2x – 10 + 3x = 108

5x = 108 – 38 = 70

x = 14 day

C work for 14 days.

72. (b) sec x + tan x = P

sec x – tan x = 
1

P

2

2

P –1

P 1
= 

1
P P –

P

1
P P

P

 
  

 
  

= 

1
P –

P
1

P
P



=
2tan x

2sec x
=

sin x cos x

cos x





= Sin x

73. (a) LCM of (15, 18, 20, 27) = 540

x must be = 540K + 10

Put K = 1, 2, 3

Put K = 4, it will be multiple

of 31

x = 540 × 4 + 10 = 2160 + 10 =

2170

it is near the square = 2209

the no. should be added =

2209 – 2170 = 39

74. (c)
7777 77

78


=

7777

78
+

77

78
(–1)77

+ (–1) = –2

= Rem = 78 – 2= 76

75. (c) A

B CD

a a

x

8

x

a + a + x + x = 64

a + x = 32----(i)

a2 – x2 = 82

a2 – x2 = 64
(a+x)(a–x) = 64
(a–x)×32 = 64
a – x = 2------(ii)

From (i) and (ii)

a = 
32 2

2


=

34

2
=17

x = 
32 – 2

2
=

30

2
=15

Area of ABC

=
1

2
× 2x × 8 = 15×8= 120

D-ENGLISH COMPREHENSION
76. (d) The adjective “oblivious” is

always followed by the
preposition “to”  when
indicating unawareness or
ignorance of something.

77. (c) Imperturbable (vfopfyr)
means calm and not easily
excited or disturbed. While,

Excitable (mÙksftr gksusokyk)
means easily excited or
emotionally reactive.

Exasperating (fp<+kus okyk)
means causing irritation or
annoyance.

Startling (pkS adkus okyk)
means causing sudden
surprise or alarm.

Contaminating (çnwf"kr djus
o kyk)  means making

something impure or
harmful.

78. (c) Worn (f?klk&fiVk) means

something that is
damaged, deteriorated, or
shabby from use or age.
Similar to Dilapidated

(ttZj) means falling apart

or in poor condition due
to age or neglect.

Dilemma (nqfo/k) means a

situation requiring a
difficult choice.

Energetic (ÅtkZoku) means

full of energy and
enthusiasm.

Diminutive (y?kq) means

very small or tiny.

79. (c) Broke into (tcjnLrh ços'k

djuk) means to enter a

building illegally or by

force, usually to steal or

take something.

80. (d) Active Voice: Are you

delivering the pizza?

 Structure: Are + you

(subject) + verb-ing +

object

Passive Voice: Is the pizza

being delivered by you?

 Structure: Is + object

(pizza) + being + past

participle (delivered) + by

+ subject (you)

81. (d) Fugitives (HkxksM+s)  refers to

people who run away from

justice, especially to avoid

arrest or punishment.

Hermits (lU;klh) : People

who live in solitude, often

for religious reasons.

Vagabonds (vkok j k) :

People who wander from

place to place without a

home or job.

Castaways (vdsys iQals yksx)
: People who are

shipwrecked or stranded in

isolation.

82. (a) Bread and butter (jksVh vkSj

eD•u) is an idiom that

refers to a person’s main

source of income or

means of living.

Livelihood (jkstxkj) means

the work or means through

which someone earns

money to live.

83. (a) Immigrant means

someone who moves from

their native country to

another country to live

there permanently, often

for better opportunities or

safety.
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84. (c) Felicity (ijekuan) means

great happiness or bliss,

similar to Happiness (•q'kh)
, which refers to a state of
joy and contentment.

Fellow being (lgthoh)
means another person or
living creature.

Anguish (osnuk) means

severe mental or physical
pain.

Function (lekjksg) means a

formal social or official
event.

85. (c) Correct order is DBAC
D sets the scene: The sun had

vanished and the lane was
dark.

B follows with contrast: From
noisy road to sudden
quietness.

A adds a specific action: They
stayed back to avoid being
seen.

C concludes the event: Robin
vanished around the curve.

86. (d) Correct order is PQRS
P starts with the main idea:

The research paper
analyses.

Q introduces the subject: the
relationship between diet
and.

R adds detail: disease and the
importance of.

S concludes the point:
exercise in maintaining good
health.

87. (c) The correct spelling is
Anonymity means the
condition of being
anonymous or not
identified by name.

88. (b) Correct spelling is
Discrepancy means a lack
of compatibility or
similarity between two or
more facts.
Other correct spellings are
:
Florid – Means excessively
intricate or elaborate (often
used for language or
decoration).

Emulate –Means to imitate

or match, often out of

admiration.
Insular –Means isolated or
narrow-minded.

89. (b) Everyone is a singular

indefinite pronoun, so it

must take a singular verb.

“Everyone was” ’! Correct

(singular verb)

90. (a) Comply (ikyu djuk) means

to act in accordance with a

rule, request, or command.

While, Deny (budkj djuk)
means to refuse to agree,

accept, or follow a rule or

request.

Engage (lfEefyr gk suk)
means to participate or

become involved.

Assist (lgk;rk djuk) means

to help or support.

Expect (vis{kk djuk) means

to look forward to or

anticipate something.

91. (b) Active Voice: The child

was testing the patience of

her mother.

 Structure: Subject + was/

were + verb-ing + object

Passive Voice: The

patience of her mother was

being tested by the child.

 Structure: Object + was

being + past participle +

by + subject

92. (b) Chromotherapy (j ax
fpfdRlk) – A method of

treatment using colors.

Based on the fact (bl rF;
ij vk/kfjr gS) – Indicates

the foundation or principle.

Various lights have

definitive energy bands

(fofHkUu jks'kuh dh fuf'pr ÅtkZ
rjaxsa gksrh gSa) – Talks about

the specific property of

light.
Are linked to various

organs of the body (;s 'kjhj
ds fofHkUu vaxksa ls tqM+h gksrh gSa)–

Shows connection to the
body.

Can help to heal them (mUgsa
Bhd djus esa enn dj ldrh gSa)
– States the healing benefit.

93. (d) Slowly (/hjs)  – Adverb that
describes how the action of
driving should be done.

94. (c) Out and out (iwjk @ iw.kZ :i
ls) – means complete or
absolute, especially to
describe someone’s nature
or qualities.

95. (d) In indirect questions, the
word order should be
subject + verb, not verb +
subject (as in direct
questions).
“tell me why they are late”

96. (a)
97. (c)
98. (c)
99. (c)
100.(a)

ANSWER KEY
1. (a)

2. (a)

3. (c)

4. (d)

5. (b)

6. (b)

7. (a)

8. (b)

9. (d)

10. (d)

11. (b)

12. (c)

13. (b)

14. (b)

15. (b)

16. (b)

17. (a)

18. (c)

19. (b)

20. (a)

21. (d)

22. (a)

23. (d)

24. (d)

25. (b)

26. (c)

27. (b)

28. (b)

29. (a)

30. (d)

31. (c)

32. (c)

33. (c)

34. (c)

35. (d)

36. (c)

37. (a)

38. (d)

39. (c)

40. (c)

41. (a)

42. (d)

43. (c)

44. (c)

45. (b)

46. (c)

47. (d)

48. (c)

49. (d)

50. (d)

51. (a)

52. (c)

53. (b)

54. (c)

55. (b)

56. (b)

57. (b)

58. (d)

59. (d)

60. (a)

61. (b)

62. (b)

63. (d)

64. (c)

65. (b)

66. (c)

67. (b)

68. (b)

69. (a)

70. (c)

71. (c)

72. (b)

73. (a)

74. (c)

75. (c)

76. (d)

77. (c)

78. (c)

79. (c)

80. (d)

81. (d)

82. (a)

83. (a)

84. (c)

85. (c)

86. (d)

87. (c)

88. (b)

89. (b)

90. (a)

91. (b)

92. (b)

93. (d)

94. (c)

95. (d)

96. (a)

97. (c)

98. (c)

99. (c)

100.(a)

ANSWER KEY


